374" @ Threaded Stud
S with flot washer &
hex nut (4-Regd)

14" P28 x 16" x 24"
l’;ﬂ/ ST 220 6 J6)
HIpd

Bonded —
onde \

G T 3644 DAB

WY 13 2000

/
2

05| 12-BRES.OWG 47

T

105 /- L 95055'| 9551008\ BRIDGE 05—1.

D.AN
TEH.

ORAWN
REVEWED

——7/8" & Hole in Bott Flange »
£
i — 1/8” Shim P's (As Req'd) ' ,
i {
. | |
- i l [ Side Retamers (at each )
QQ L — face of each beam) k 5‘{ >
= Bearing Assembly
TF,,, e ot
U]t T
7127 170" i
(212 G 1 1/2" 8 x 18" HS. Anchor bolts with | 14 7/8
A <_l 3" x 3" x 5/16” P washer under nut
ELEVATION AT PILRS 1 & 2 SECTION A-A

TYPE | ELASTOMERIC EXPANSION BEARING

§ Yo a
QQ o r{ﬁd _‘/.: —— *
e =
v % .........
.5_/5: E 734" 2 Hole I Ql
Ly
8|
LI e

SIDE. RETAINER
Faguivalent rolled angle with stiffeners
wil be offowed in lieu of welded plotes.
Weight included with Structural Steel,

;7o X 70" Anchor Bolts with 1 3/8” x 2" siotted

holes in the bottom flange and 2 1/4°x 2 1/4'x 5/16"
P wosher under nut. 1 1/8” bholes in rocker B.

|
J o

a

~=¢ Brg.

a ¢ ‘ a

: g2l
\' 4 r Ll SR 2k 9k 14" (H270 Gr. 36)
=
c

h /. ‘ - Shim B (If /’?equ/fed}w\\

3
2 5/8" \ @_f

»
)

rg//f”

J = Layers of 9/16"

—J = J/16" Steel Flates

© ﬁ T
o~ D
N
\
A 22" .
BEARING ASSEMBLY
Note:  Shim plotes shafl not be ploced

o
P —
[ . c
 I— N |
L |
\ .
! I . ~——Shim P (If Required)

L\
T sd b
| \__1/8” elastomeric negprene leveling pad

‘ according to Art. 1052.02 of the Standard

Specifications.  Cost included with Furnishing
& Frecting Structural Steel.

LLEVATION AT ABUTMENT

2°%9'x16" STEEL ROCKER PLATES AT ABUTMENTS

SECTION 6-8

1/8 7 elastomeric neoprene leveling pad
occording to Art. 1052.02 of the Stondord

Specifications.

¢ Girder

under Bearing Assembly.

Bk. of Abut -~/
/

1 3/8" x 2" slotted holes
for 1”7 & anchor bolts

,
v/
& e
=

* Flastomer (55 Durometer)

Contract No, 97255 2= secnon oy | o | e
MATERIALS for ILLINOIS COIL—LOCK FAU.8066(  SEC. 97-00203-01-6S MADISON 34 22
i FED. ROAD DIST, NO. 7 HUNCIS | PROJECT

ANCHOR BOLT

The anchor bolt shall be fabricated from cold drawn or hot finished
seamless carbon steel mechanical tubing conforming to ASTM A519,
Grade 1026, CW and supplied with hexagonal nuts and cut washers.

The coil wire shall be made of any suitable soit steel wire.

The finished onchor bolts shall be cleaned of rust and other foreign
materials ond wrapped or packaged to prevent contamination until they
are installed.  The epoxy grout shall be a two—component, epoxy resin
bonding systermn conforming to ASTM C 881, Tjpe 1, Grade 7 and of a
Class suitoble for the temperature at mstollation,

INSTALLATION PROCEDURE for the ILLINOIS

oL
1930
//-— ¢ Brg. & ¢ Abut
[ {
— %r/? i 37
- f.

14"

3
LN

L

|
FS S
/ N =S 12

T 1
& g7 =By St

1 3/8% 2 siotted .~ S S
holes in pad

It e g Brg. 779 Anchor Bolt

SECTION €-C

9"

4 7/2" 4 1/2"

- O
g

PLAN-ELASTOMERIC NEOPRENE

LEVELING PAD
(At Abutments)

CONL—LOCK ANCHOR BOLT

1. With the coil wire in ploce, the bolt shall be inserted into the hole
and turned clockwise to a snug fit in the hole. Nut and washer shall be
placed on the bolt.  The nut shall be tensioned until the steel base plate
/s held securely fo the concrete bearing seat,

2. Epoxy grout shall be pumped through the zerk fitting with o

pressure gun.  Pumping shall continue until the epoxy overflows the hofe
around the bolt shank.  After pumping is discontinued, excess epoxy
shall be immediately wiped off

AL TERNATE ANCHOR BOLTS

The Contractor may use, at his option, the capsule or the adhesive
cartridge Lpe onchor rods that have been previously tested and given a
prior approval by the Department.  The Contractor shall install these
anchor rods in pre—drilled holes i occordance with the manufociurer’s
recommendations and procedures.

The capsule or the adhesive carlridge type anchor rods shall be o
two part system composed of:

1. A threaded rod stud with nut and washer of the tpe specified:

2. A sedled glass capsule or o seoled gloss odhesive cortridge

containing premeasured amounts of the adhesive chemicadl.

| Zocation | Tpe |

No. Abut. A36
So. Abut. A6
Prer 1 A325
Prer 2 AJZS

ASTM F1554 Grade 105, ASTM A449 and AASHTO M314, Grade 105
anchor rods may be substituted for the anchor rods ahown obove.

The Minoks Coi'=Lock Anchor Bolt is a proprietary item which is the
property of the lMinois Department of Tronsportation. Use, reproduction
or disclosure without express written permission /s prohibited and
protected under Federal copyright laws.  The production and the fabrication
of this bolt for use on highway projects in the State of Minois shall be
permitted and there shall be no incurred chorges or fees to the
manufacturer or the fabricator for producing or fabricating this bolt.

18" 18"

Sheet 12 of 18
GENERAL NOTES

Holes in the masonry for onchor bolts sholl be driled
through the base plates to the diameter and depth shown
or according to'the manufacturer’s recommendation
after beoms or girders have been erected and adjusted.

Prior to setting the bolts, the holes sholl be dry and
oll dust and loose particles shall be removed by the use
of compressed air or vacuuming.

The anchor bolls, furnished and instalted and
ncluding the epoxy grout or capsules shall not be paid for
separately but shall be included in the unit bid price for
Furnishing and Erecting Structural Steel”.

0" # Holes with zerk

for epoxy grout

D
1/8”
IS
N
o Y%
“+
s
: § : / - fop of plate
7 :
/ /
Y
h- Bearing Seat
L n
RS
§&
SN
S
§§ k
N |
Mo
S ~
™~ £nd of L £nd of
Coll Lock ' I Groove
/32" wide x J/32" deep
5 } W groove in anchor bolt
ﬁj\ with 1/8” 0.0. coil wire
Ri
N
RN
[ - 1/8” Noteh
7y

WLINOIS COIL—LOCK ANCHOR BOLT

e 7 7 e o
LAt Abuiments 7" 71/8” 13167 1 13/47 /4"
[ 7127 | 188" | 1576 21/8 1/27

116" ot bottom |
of coll
PLAN — COIL _WIRE

GilL OF MATERIAL

Corporate License Number 184~001-084

BEARING AND ANCHOR BOLT DETAILS
INDIANA AVENUE over NORFOLK SOUTHERN RAILWA
SEC. 97-00208-01-6S
STATION 125+20.00
ALTON, ILLINOIS
STR. NO. 060-6710

ltem Unit

© Copyright Honson Professiondl Services e, 2005 o o,

8551006

Elostomeric Beoring Fach
Assembly, Tipe / ac

<& HANSON o

‘Hanson Professional Services Inc.




